Приложение 8

Контрольные работы

5.1.                                                           Вариант 1

	№ п\п
	уровень
	Решение задач

	1
	1
	Дано:

U=5B

q=100 Кл


	Решение:

А=qu; A=100Kл∙5В=500Дж



	
	
	А-?
	

	2
	2
	Дано:

R1=2Oм

R2=2,5Ом

R3=3Ом
	Решение:

I=const; Iaв\Raв;Rав=R1+R2+R3; Iав=6В\7,5Ом=0,8А.

U1=Iaв∙R1                                        U1=0,8А∙2Ом=1,6В

U2= Iaв∙ R2                                     U2=0,8А∙2,5Ом=2В

U3= Iaв∙ R3                                     U3=0,8А∙3Ом=2,4В

	
	
	U1,2,3-?
	

	3
	3
	Дано:

ε =120В

r=50Oм

U=118B 
	Решение:

Uвн=Ir-падение напряжения на внутреннем участке цепи.

I= ε\R+r; Ir+IR= ε;         Ir= ε-IR; Ir=120B-118B=2B

I=120B-118B\50Oм=0,04А
Rv=U\I;Rv=118B\0,04A=2950Oм

	
	
	Rv-?

Uвн-?
	

	4
	3
	Дано:

R1=10 Ом

R2=20 Ом

R3=40 Ом

R4=60 Ом

Uo=380В
	Решение

Ro=RI+RII;1\RoII=1\R2+1\R3+1\R4; RoII=10,90Ом

Ro=10Oм+10,9Ом=20,9Ом
Io=Uo\Ro;Io=380B\20,9Om=18,1A

U1=18,1A∙10Oм=181B;U2,3,4=380B-181B=199B

I2=199B\20Oм=9,95А;I3=199B\40Oм=4,975А;

I4=199B\60Oм=3,3бА

	
	
	I1,2,3,4-?
U1,2,3,4-?
	

	5


	4
	Дано:

V=1л

ρ=1000кг\м³

t1=20ºC

t2=100ºC

P=600Bт
ή =80%
	CИ

0,001м³

0,8
	Решение:

Qотд=Qпр; ή=Qпол\Qзатр∙100%

P∙t∙ή=Cвmв(t2-t1); m=ρV

t=Cвmв(t2-t1)\P∙t

t=4200Dж\кг∙ºС∙1000кг\м³∙0,001м³∙80С\600Вт∙0,8;

t=700c

	
	
	t-?
	
	


	5.2.
	
	Вариант 2

	№ п\п
	Уровень
	Решения задач



	1
	1
	Дано:
R=100Ом

U=5
	Решение:

P=IU                      P=U²\R; P=25B²\100Oм=2,5Вт
I=U\R;



	
	
	P-?
	

	2
	2
	Дано:

t=1ч
I=5A

U=220B

ή=80%
	C.И

3600с


	Решение:

ή=Aп\Аз·100%; Aп=ήАз\100%= ή·IUt\100%

Ап =80%·5А·3600с·220В\100%=

=3168000Дж=3168КДж



	
	
	A-?
	
	

	3
	3
	Дано:

R1=2Oм
I1=0,6A

R2=1Oм
I2=1А
	Решение: 

ε =I1R1+I1r                       ε=0,6А•2Ом+0,6А•0,5Ом  

ε =I2R2+I2r                       ε=1,2В+0,3В=1,5В 

 SHAPE  \* MERGEFORMAT 



0= I1R1+I1r- I2R2-I2r

r= I2R2- I1R1\I1-I2

r=1A•1Ом-0,6A•2Ом\0,6А-1А=0,5Ом



	
	
	I1R1-?

r-?
	

	4
	3
	Дано:

I=0,9A

R1=4Ом
Uвc=2В
	Решение:

Io=U\R

Rвс=2B\0,9A=2,22Oм
1\R.вс.=1\R1+1\R2;           1\R2=1\Rвс-1\R1;

1\R2=1\2,22Ом-1\4Ом=9\44Ом

R2=4,8Ом



	
	
	Rвс-?

R2-?
	

	5
	4
	Дано:

Uaв=60B
R1=0,9Oм

R2=2Ом

R3=5Oм

R4=3Oм
	Решение:

Rо1=R2+R3                            Rо1=2Ом+5Ом+7Ом

1\Raв=1\Ro1+1\R4; 1\Raв=1\7Oм+1\3Ом=2,1Ом

Iaв=Uaв\Raв; Iaв=60В\2,1Ом=28,571А

Iав=I1;I2,3=Uaв\Raв; I2,3=60В\7Ом=8,571А

I4= Uaв\R4; I4=20A.



	
	
	I1-4-?
	


5.3.                                                                    Вариант 3

	№ П\П
	Уровень задачи
	Решения задач

	1
	1
	Дано:

t=1c
U=120В 

I=5A
	Решение:

А=IUt
A=5A∙120B∙1c=600Дж 

	
	
	A-?
	

	2
	2
	Дано:

I=3A
U=120B

S=0,08мм²

l=8м
	Решение:

R=ρl\S; ρ=R∙S\l;

I=U\R; R=U\I    

ρ=U∙S\I∙l;

ρ=120B∙0,08мм²\3A∙8м=0,4Oм∙мм²\м
Спираль изготовлена из никелина. 



	
	
	ρ-?


	

	3
	3
	Дано:

R1=4Ом
I1=0,2A

R2=7Ом
I2=0,14А
	Решение:

I= ε \R+r ; при R=0 Ik=ε\r
ε=I1∙R+I1∙r            I1∙R+I1∙r= I2∙R+I2∙r                     

ε=I2∙R+I2∙r            I1∙r- I2∙r= I2∙R- I1∙R                     

r= I2∙R- I1∙R\ I1- I2;       r=3 Oм  

Ik=0,46A≈0,5A       при ε=1,4В   

	
	
	I-?

если R=0
	

	4
	3
	Дано:

R1=20Ом

R2=10Ом

R3=15Ом

R4=1Ом
	Решение:

R0=RI+RII+RIII
1\R0II=1\R2+1\R3; 1\R0II=1\10+1\15=5\30; RII=6Ом

R0=2Oм+6Ом+1Ом=9Ом



	
	
	R0-?
	

	5
	4
	Дано:

U=120B

I=3A

Послед.соед.

I=16A

Паралл.соед
	Решение:
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I=const                                         U=const

I=U\R; R0=U\I; R0=40Oм             R0=7,5Ом                                                      

1\R0=1\R1+1\R2;

1\7,5=1\40-R2+1\R2=R2+40-R2\40R2-R2²=40\R2(40-R2)
40R2-R2²=300                R2²-40R2+300=0

D=1600-4(1)·300=400; D=400

X1=40- 
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\2=20\2=10; R1=10Ом; 

 X2=40+20\2=30;   X2=30;R2=30Oм.



	5.4.
	
	
	Вариант 4

	№  

п\п
	Уровень задачи
	Решения задач


	1
	1
	Дано:

I=0,5A

R=120Oм
	Решение:

Р=IU; U=IR; P=I²R

P=0,25A·0,25A·120Oм=30Вт

	
	
	Р-?
	

	2
	2
	Дано:

l=8,5м
I=150A

U=6B

ρ =0,017Ом·мм²\м
	Решение:

R= ρl\S; S= ρl\R; I=U\R; R=U\I; S= ρlI\U;

S=0,017Oм·мм²\м·8,5м·150А\6В=3,612мм²



	
	
	S-?
	

	3
	3
	Дано:

ε=220В

r=0,1Oм

U=210B
	Решение:

I= ε\R+r; I= ε-U\r; I=100А;

R= ε-Ir\I; R=2,1Oм



	
	
	R-?
	

	4
	3
	Дано:

R1=60Ом

R2=40Ом

R3=20Ом

R4=30Ом

R5=50Ом

U=250B

	Решение:

Ro=RI+RII+RIII; 1\RI=1\R1+1\R2;

RI=120Ом\5=24Ом;1\ RIII=1\R4+1\R5;

RIII=150Ом\8=18,75Ом;

Ro=24Oм+20Oм+18,75Oм=62,75Ом;

Io,I,II,III=4\R;Io=3,98A

U1,2=3,98A·24Oм=95,52В
I1=95,52B\60Oм=1,59A;I2=95,52\40Ом=

=2,38А;I3=3,98A.

U4,5=3,98A·18,75Oм=74,625B

I4=74,625B\30Oм=2,48А;

I5=74,625B\50Oм=1,49А

	
	
	Ro-?

I1-5-?; U1-5-?
	

	5
	4
	Дано:

ε =40В

r=0,04Oм

S=170мм²

ρ=0,017Ом·мм²\м

I=200A
	Решение:

I= ε\R+r; ε=U1+Ir; U1= ε-Ir

U1=40B-200A·4·0,01Oм=32В

U=падение напряжения в цепи

U=IR=Iρl\S;U=2B

U2=32B-2B=30B

P=UI; P=30B·200A=6000Bт

	
	
	U1,2-? P-?
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